2t 2B H{AE TR0 U= 28 S22 AHQIY A QIHA R,
a’ls
S Mm/HE olo|x|

024 TUlK

o

ks

THE:
AR T
LIAL B2 X &F

e
=
o3

AHQIEIA AR HT:
= 2 ZEElX| S

LIAF 2|22t 22 El 1.4305.

BAE T8, Grta, T

e

1z

3 oM HE, drtad, wa

EM OlF2]:

AR T

LIAL &2, 4™ *._@F el

&3 E, Fs ook L A AkgE M2l

AEQIB|A H{H:
LIAF &2|1E, 3783,
22 E, F3tElx| g, oot & -3,

HH.:

QleiA B 5 Blof O3t &3 IxI0l HHS WXIsHof st E
of A2 et

EMH MY
EfQA: E 2 HE i
ehel e =3 LIE 98

3]
®
D2
L
i |
1 Swi
I E A S
Aol | c EJ
| ' \
o |
;hi.
D1
E529%

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



°
o= — e - —
SCAE A J8l0] = 28 2 AH|2IE|A olHA ERK],
X1 |=
[==] =3
Z5 29
271501 Y= A ZRIF]
FEHS EtQJ Ex& AME EH D D1 D2 L L1L2L3 AEE3 SW1 SW2 Fx30° =2
718 A S N
K1213.11051 A AE FZE 5 M10x1 25 50,5 17 7 15 5 13 - 1,3 8-12
K1213.12061 A AE A3t 6 M12x15 25 555 20 8 17 6 14 - 1,8 4-12
K1213.13081 A AEl A3t 8 M16x1,5 33 76 26 10 23 8 19 - 2,3 10-20
K1213.14101 A AE A5t 10 M20x1,5 33 82 28 12 25 10 22 - 2,8 3-23
K1213.111051 A AEQIFA AE HZst 5 M10x1 25 505 17 7 15 5 13 - 1,3 8-12
K1213.112061 A AH[QIE|A AE HIZ3 6 M12x1,5 25 555 20 8 17 6 14 - 1,8 4-12
K1213.113081 A AE|QlEA AE] HIZE8 8 M16x1,5 33 76 26 10 23 8 19 - 2,3 10-20
K1213.114101 A AE[QIFA AE HIZ8 10 M20x1,5 33 82 28 12 25 10 22 - 2,8 3-23
K1213.21051 B AEl A3t 5 M10x1 25 50,5 17 7 15 5 13 17 1,3 8-12
K1213.22061 B AE At 6 M12x1,5 25 555 20 8 17 6 14 19 1,8 4-12
K1213.23081 B A€l PEET 8 M16x1,5 33 76 26 10 23 8 19 24 2,3 10-20
K1213.24101 B AEl A3t 10 M20x1,5 33 82 28 12 25 10 22 30 2,8 3-23
K1213.121051 B AE|QIEA AE] HIZE 5 M10x1 25 505 17 7 15 5 13 17 1,3 8-12
K1213.122061 B AHQIBA AR HIZE8 6 M12x1,5 25 555 20 8 17 6 14 19 1,8 4-12
K1213.123081 B AHE[QlEA AR HIZZ8F 8 M16x1,5 33 76 26 10 23 8 19 24 2,3 10-20
K1213.124101 B AHQIHA AE HIZd8 10 M20x1,5 33 82 28 12 25 10 22 30 2,8 3-23

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



